RREETHF—GHR AIl'TALC

GPFR 5155 Bt 38
oA v
RIS GPF20006 [ GPF20008 | GPF30008 | GPF30010 | GPF40010 | GPF40015
TENE )
BEO&E PTi/s [ PT4 | PT1/4 [ PT3/s [ PT3/8 | PTI/2
= (MAU 0.3y m(IBIEANZ899.9%)
BEE DA 0.01 p m(IBHERNZ99.9%)
FRENEHE 0.15~1.0MPa
R5ZME 7] 1.5MPa
FRREDE -5~70°C(RES)
HEE8 RIS, EE. £
BKNEE 19CC 54.5CC 89CC
=8 BRI 2079 3569 6209
= B 238¢g 3979 6279
U1 BEFUECH . NPTHIHLERE,
F EmfEH
1. BHBEX, BRMESEIWUL, KRSEX;
4} 2. BEBEEE03um. 0.01 umIRIE;
3. BER+FH—EANBE I KMEBEafRE;
4. MEEMEBPC, ek, TBUHLERE, EREAERIBENFERX;
5, BEUEEEEETCRLE, MEIRSKI =M. —BHERA.
PATHE L1
GPF300[] 08 [ [ M G
/J J\ /J J\/J\/\\ J\
\P 2)(3)(4)(5 (87
DORFIHKE Qe QBEORX @HKAFR OFZ 11871 ©BIERHE DF BT
GPF200: 2005451558 BEES ggf ]ﬁ
9263, PCHR . o . 2263, PTH
hem A\ = Ve P ZB+FEHKT 228 R [M: 0.3um
GPF300: 300ATIMBORESS |C. SBH 08: 14 : i G GF
N. RER 10: 3/8" A: BEIEEXIU J: sz D: 0.01pm T. NPTS
GPF400: 400FRBETEDELSS [
REBFETE
GPF300 ik %8 e
1 DRiL ) e N fis [
2 ORI NBR
3 fReEs SPCC
4 IKHA RiBiZHEREmES R
5 I SR
6 NSRS PC
7 FfE0T NBR
8 ThIsHRES SPCC
9 HoKER BR

PCEBM+EBIRES

176



RFEIET(F—GHR7 AIl'TALC
GPF% 317 5 At 32

mERHE
ASE. GPF20008M(0.3 um) ASE. GPF30010M(0.3um) AU%E. GPF40015M(0.3pm)
0.05 ; ; 0.05 : ; ; 0.05 ; ;
‘ 0.5MPa ‘ 0.5MPa’ i 0.5MPa

_0.04 0.3MPa ; _0.04 0.3MPa - _0.04 0.3MPa
& 0.7MPa & 0.7MPa & 0.7MPa
S 0.03 S 0.03 S 0.03
%t 0.02 gt 0.02 gt 0.02
R R
& 0.01 il om/ @ 0.01

0 0 0

0 250 500 750 7000 0 500 1000 1500 2000 2500 0 7000 2000 3000 4000

& (L/min) ME (L/min) FE (L/min)
FUS%. GPF20008D(0.01um) A%, GPF30010D(0.01um) FUS%. GPF40015D(0.01 um)
0.05 : : 0.05 : ; 0.05 : ;
‘ 0.5MPa : 0.5MP | i

_0.04 0.5MPa — 0.04 0.3MPa ° _0.04 0.3Mpa0-5MPa
© / © . / © » -
= 0.7MPa a 0.7MPa a
S 0.03 S 0.03 S 0.03 Soniba
wt 0.02 gt 0.02 w 0.02
R R R
@HO.M/ g 0.01 g 0.01

0 0 0

0 200 400 600 800 0 500 7000 1500 2000 0 500 1000 1500 2000 2500 3000

ME (L/min) ME (L/min) FE (L/min)

S EBRIE

PC(REEIF+ & BIRES EEW

BRK\FF ik A B BA C CA K KA KB KC P PA Q
GPF200(C/N)06 52.5 54.5 33 150 137 5.4 27 8.4 23 PT1/8 120 M5X0.8
GPF200(C/N)08 52.5 54.5 33 150 137 5.4 27 8.4 23 PT1/4 120 M5X0.8
GPF300(C/N)08 62.5 68 41 197 179 6.5 40 8 27 PT1/4 158 G1/4
GPF300(C/N)10 62.5 68 41 197 179 6.5 40 8 27 PT3/8 158 G1/4
GPF400(C/N)10 80 84 50 220 202.5 8.5 55 11 33.5 PT3/8 177.5 G1/4
GPF400(C/N)15 80 84 50 220 202.5 8.5 55 11 33.5 PT1/2 177.5 G1/4

V4 177



o

RREIETHF—GAR

AIl'TALC

GAF %5385 23
ﬁ nll:
EmFE
1. BRIERGE, EABNREBEELTBESRE, LMESREIBREPOREH TSR
1058 B8 FAA 5
2. BNEX)N, 2KEERS, KRBEK;
3. BEBESum. 40 p maE;
4, BEB+FHRBEBHKFIRIKEAIHRE
5. MEBMEBPC. &E. BEIHEE, EREAERER K.
6. TREGABESZREZE,
]R8
Bk GAF200-06 | GAF200-08 | GAF300-08 | GAF300-10 | GAF400-08 | GAF400-10 | GAF400-15 | GAF600-20 | GAF600-25
IENE 2R
BEO& DE prig | pria | pma | P38 | PTa | P3| Pz | P34 | PT1
BEE 40 pmT5 um
BREHEE 0.15~1.0MPa(20~145psi)
{RISMEE] 1.5MPa(215psi)
ERREHE -5~70°CERERAE)
BXNESE 25CC 60CC 100CC 205CC
5= 200g 360g 640g 1040g
U BEITEGCH .. NPT TIHERE,
DELHE L
GAF300 [1 10 [ [ W%
|
DORFIKE @gEmE OREDE  @HKkARX (OF 214 CBIERE DF BB
GAF200. GA200TI58E83 82_’ 11//23.:'
GAF300: GASOORSIBEE | & Lpot' o e O EEFH e e e, PTH
N: FREEM e Bk = - ZE: 40umB 5 g
) : 08: 1/4 0 W: 5umif ‘
GAF400: GA400XRTI58iE28 10: 3/8" A. BEHEKR Ji AMRER T: NPT
15: 1/2"
GAF600: GAGOORFLEESE | C. RIBH 29: 3
AEB 518
GAF200 - GAF600 Rk &% H"E
| 1| RKEARE B85%
20— 2 OfEE NBR
i T = 3 Bimnes POMSHE
IN | ouT 4 I HDPE
‘ : | 5 | PHEED POMBIEE
8 | 6 BEIKAR 95R\PCEHIRE
£ ‘ @ 7| RE= SPCC
8 8 | RUISIAE PC
e 9 | miEoS NBR
10 | BisHRES sPCC

=

LT LTI T (1]

178




RREIETHF—GAR

AIl'TALC

GAFX%3:&iE 23
mERHE
EARSE: GAF200 : EFTSE . GAF300
0.6 ! 0.6
0.5 — ! 0.5
g 0.4 1T | s 04 -
=03 | s 03 T
0.2 T~ | 0.2 ——
@ 0.1 | @ 0.1
[l I
N 0 N i K 0 \\
'l 0 500 1000 1500 2000 2500 3000 3 Il 0 1000 2000 3000 4000 5000 6000
mE L/min ! nEe L/min
EAAUSE . GAF400 3 AR . GAF600
0.6 | 0.6
o —— 1 0.5 E——
g 04l T } o 0.4 I ——
S 0.3 \\ ! < 03 —
a 0.2 ™~ | - 0.2 I —
2 0.1 T i 0.1 —
sl | b
% 0 —~— i \Mﬂ; 0 T
Il 0 100020003000 400050006000 70008000 ! [l 0 2000 4000 6000 8000 10000 12000
e L/min 3 =} L/min
S EBRIE
KA B
KB BA
[ i = ’
h
5—i—o) <R
ULT ‘ TEE)
g X >
(S]] 3
‘ P
[E 2] s
|
M= S
‘ 1 g |
‘ < ‘
d [ = i
| \
i i
Q
BUSR\RT SR A B BA © CA K KA KB KC P PA Q
GAF200-06 52.5 54.5 33 150 137 5.4 27 8.4 23 1/8" 120 | M5X0.8
GAF200-08 52.5 54.5 33 150 137 5.4 27 8.4 23 1/4" 120 | M5X0.8
GAF300-08 62.5 67.5 41 197 179 6.5 40 8 27 1/4" 158 G1/4
GAF300-10 62.5 67.5 41 197 179 6.5 40 8 27 3/8" 158 G1/4
GAF400-08 80 84 50 220 202.5 8.5 55 11 335 1/4" 1775 | G1/4
GAF400-10 80 84 50 220 205.5 8.5 55 11 335 3/8" 1775 | G1/4
GAF400-15 80 84 50 220 202.5 8.5 55 11 335 1/2" 1775 | Gl1/4
GAF600-20 100 113 70 266 242 11 66 13 50 3/4" 205 G1/4
GAF600-25 100 113 70 266 242 11 66 13 50 1" 205 G1/4

179




	页 1
	页 2
	页 3
	页 4

